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PRACTICE QUESTION j

3+1=
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10 -

1 mark

52+ 7 =

1 mark
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8+6=

1 mark

12 -7 =

O

1 mark
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L+5+6=

1 mark

9x10 =

O

1 mark
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3x2=

1 mark

50 +

__

80

O

1 mark
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63-10-10=

1 mark

8 x5 =

1 mark

Page 8 of 16

2016 PrimaryTools.co.uk

2016 PrimaryTools.co.uk

1 mark

10+ 40+ 20 =

O

1 mark
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o
I
I
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=
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21 +40 =

1 mark

O

1 mark

I
O
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28 +

6x3=

1 mark

1 mark

69 +11 =

O |

1 mark

O

1 mark
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556 +17 =

1 mark

40 +10 =

1 mark

55+ 5=
Q

O

1 mark
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71-14 =

1 mark

of 20

1 mark

of 30 =

w|r

1 mark

END OF TEST
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